
#26-3585

AIR HOCKEY

LAREDO

Laredo





Main  cabinet
1 piece 2 pieces

 Leg  A
2 pieces

Leg D

2 pieces

2 pieces
FootLeg E

2 pieces
Long support rod A

#5 #6 #7

#1 #2 #3

#8

#4

4 pieces 2 pieces

1

 Leg  B Leg C

Long support rod B
2 pieces 24 pieces

Tenon
4 pieces

5/16"X3" Bolt

4 pieces

5/16"X23mm  Washer 5/16"X1-1/2" Bolt
28 pieces

#13

#18 #19

#9 #10 #11

#20

#14 #15 #16

#12

16 pieces4 pieces

5/16" Nut 5/16"X35mm  Washer

1 piece
Allen Key

#17

#21

8 pieces
5/16"X2" Bolt

Pusher Puck
4 pieces

Wrench
1 piece4 pieces4 pieces

Leg  leveler



2

Step 1:
Screw #10 tenon in to #3 Leg B, #4 Leg C,#5 Leg D and #6 Leg E. 

Screw #8 iron rod in to #4 Leg C and #9 iron rod in to #3 Leg B.Repeat these steps for 

both sets of legs.

Step 2:

Attach #3 Leg B through #2  Leg A using. 

4

10

9

10 8

3
5

10

10

6
10

3

2

9

10

10



3

Step 3:
 Attach #3 Leg C #5 Leg D through #2  Leg A using.

tightening with #12 washer and #11 nut. Repeat this process for both legs. 

11
12

9

10

10

5

9
3

2



Attach #4 Leg C #6 Leg E through #3  Leg B using. 

Attach #2  Leg A using. 

Step 5:

Step 4:

4

10

10

4

6

8

5

3

10

10

4

6

2

2

8

5

3



tightening with #12 washer and #11 nut. Repeat this process for both legs.
Using #13 bolt and #16 washer to attach #3  Leg B and #4 Leg C . 

Using #14 bolt and #16 washer to attach #7 foot . 

Step 7:

Step 6:

5

11
12

8

10

10

5

5

2

2

4
3

6
16
13

13
16

14

16
7



Attach legs into the bottom of the table using #15 bolt and #16 washer.

Then screw in #17 leg levelers.

Step 8:

6

15
16

16 15

17

1

17

17

17



Step 9:

7

Using two strong adults, carefully turn the table right side up. 
Assembly is now complete, enjoy your new air hockey table!


